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- A centric load P'is applied to the granite block shown. Knowing that the
resulting maximum value of the shearing stress in the block is 2.5 ksi, determine (@)
the magnitude of P, (b) the orientation of the surface on which the maximum
shearing stress occurs, (c) the normal stress exerted on the surface, (d) the maximum
value of the normal stress in the block.
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‘For the 'steel ‘truss (£ = 200 GPa) and loading shown, determine the

deformations of the menibers 4B-and 4D, knowing that their cross-sectional areas
are 2400 mm” and 1800 mm?, respectively.
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[image: image2.jpg]_The length of the assembly decreases by 0.006 in.'when an axial force is
applied by means of rigid end plates. Determine (a) the magnitude of the applied

force, (b) the corresponding stress in the steel core.

1. 1.
an T 1
. lan‘ \ 1. .
Imr\‘& /'un. Let Po= P""\"“" 8 ciad Fored cavcied by brass shedd.
; B= EO.A—FW oF oriad foree cavried b‘/ steed cove,

Steel core
E =29 X 10°psi

= PBL = ELAb S
T S = AeE, R = -

12in.
"L _ EAS
A< Ex K==L

Brass shell :
E=15%10%psi I

P: Pb “+ ?5 = (E[,Ab + EsAs\)'E_

As = (1Y = l.oo {n"
Ay = (LEXLSY - (M) = 125 in”
@ P~ [ts 10125 + (29 v 164 )(1.001] "0';054 = 23.9%10" Jb 23.9 kips ==

zy O. [
) 6.= E.e =~ E —f- - (2wt B22E = uSoxiS pa 19.50 ks =




[image: image3.jpg]The aluminum shell is fully bonded to the brass core and the assembly is
unstressed at a temperature of 15 °C. Considering only axial deformations,
determine the stress in the aluminum when the temperature reaches 195 °C.
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